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Übungsblatt 2 (Lösung)

Aufgabe 1

Gesucht: I1, I2, I3 und U5?

M1:
◦

Ia(R1 +R3) +
◦

IbR3 = U1

M2:
◦

IaR3 +
◦

Ib(R3 +R5 +R4)−
◦

IcR5 = 0

M3: −

◦

IbR5 +
◦

Ic(R5 +R2) = U2

• I1 =
◦

Ia = 2, 989A

• I2 =
◦

Ic = 0, 041A

• I3 =
◦

Ia +
◦

Ib = 3, 011A

• I5 =
◦

Ic −
◦

Ib = 0, 019A, U5 = I5R5 = 8, 93V

Aufgabe 2

Gesucht: I1, I2, I3 und U5?

M1:
◦

Ia(R1 +R4 +R2)−R2

◦

Ib = I01Ri − U02

M2:
◦

Ib(R2 +R5 +R3)−R2

◦

Ia = U02 − U03

• I1 =
◦

Ia = −0, 185A

• I2 =
◦

Ib −
◦

Ia = 0, 1A
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• I3 = −

◦

Ib = 0, 074A

• U5 = −I3R5 = −0, 740V

Aufgabe 3

Gesucht: I1, I2, I3, I6 und U6?

M1 :
◦

Ia(R4 +R5 +R6) −

◦

IbR4 +
◦

IcR5 = 0

M2 :
◦

Ia(−R4) +
◦

Ib(R1 +R2 +R4) +
◦

IcR2 = U01 − I02
R2

2

M3 :
◦

IaR5 +
◦

IbR2 +
◦

Ic(R3 +R5 +R2) = U03 − I02
R2

2

• I1 =
◦

Ib = −98, 8mA

• I2 = −

◦

Ib −
◦

Ic = −1, 8mA

• I3 = −

◦

Ic = 100, 6mA

• I6 =
◦

Ia = −88mA

• U6 = I6R6 = −8, 8V

Aufgabe 4

Gesucht: Cab?

• Cab =
(C4+

C1C3
C1+C3

)C2

C4+
C1C3
C1+C3

+C2

+ C6C5

C6+C5
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